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Instructions to candidates
1. The rules for the conduct of Western Australian external examinations are detailed in the

Year 12 Information Handbook 2012. Sitting this examination implies that you agree to
abide by these rules.

2. Write your answers in this Question/Answer Booklet.
3. Working or reasoning should be clearly shown when calculating or estimating answers.
4, You must be careful to confine your responses to the specific questions asked and to

follow any instructions that are specific to a particular question.
5. The “Formula and Constants Sheet” may be used as required.

6. All final numerical answers should be expressed to three (3) significant figures and
include the appropriate units.



Semester 1 Examination 2012

Physics Stage 3

60 marks = 37.5% of total

Section One (Short Answer)
Answer all 16 questions in this section. Write your answers in the space provided.

Question 1
a) What is the speed of a satellite in a stable orbit 390 km above the surface of the earth?
L )
R — R +lh = -2 >0 + 390 o~ [3 marks]
L
= bk w D ™ @
1 Y
o e Gve b-bTwlo > 5-A x 1w
¢ b- b w w0l :
25 N = 5-90 % o
c A\
@ AT == T. bR X WO m S

©

b) “The acceleration due to the Earth’s gravity at the height of the orbit is only slightly less than at
the surface of the earth”.

“Do you agree or disagree with this statement? Justify your answer.

a EX(O“Q' g [2 marks]
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Question 2

A ball is thrown from a point P, which is at ground level, as illustrated in the diagram below.

wall
path of ball

The initial velocity of the ball is 12.4 ms™ at an angle of 36° to the horizontal. The ball just passes over
a wall of height h. The ball reaches the wall 0.17 seconds after it has been thrown.

Assume air resistance is negligible.

a) Calculate the horizontal distance of point P from the wall.

A = Nees> = V. eos Db = w003 ms [2marks]
= 10.-03 x 0.\7
dston e = 7T e

, - O

b) What is the height h of the wall?

vaxtieal dsplotemat ot £ = 0-\1s
4 = ‘[3 marks]
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Question 3

An isolated star has a radius R. The mass of the star may be considered to be a point mass at the
centre of the star.

The gravitational field strength at the surface of the star is gs.
On the grid below, sketch a graph to show the variation of the gravitational field strength of the
star with distance from its centre. You should consider distances in the range R to 4R.

[3 marks]

1.0gs \\
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Question 4

A young child of mass 20 kg stands at the centre of a uniform horizontal platform which rotates at a
constant speed of 4.3 ms™". The child begins to walk radially outwards the edge of the platform. The
maximum frictional force between the child and the platform is 200 N.

What is the maximum distance from the centre of the platform to which the child could walk without the

risk of slipping? U
€. = v — Luction @
O [3 marks]
o w ¥ B
= b4 T2
- 200 = .
O
o s QAo x &3 L™

Question 5

A pram and baby together weigh 135 N. The diagram below shows the position of the centre of gravity
(G) of the baby and pram.

In order to lift the front wheels up and over a kerb on a footpath whilst moving forwards, the person
pushing the pram must exert a downward force (F) on the handle. Calculate the minimum value of F.

Takt vxc& tocnants  about € [3 marks]
2en = 2aed ()
125w o~ 23 = t > 4 0‘30 @

(TS w 033
L = X = uznw
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Question 6
The diagram shows a car towing a boat on a trailer up a ramp. The total mass of the car, boat and
trailer is 3000 kg.

8 degrees

a) On the following simplified diagram, show all three forces acting on the car and trailer together.

\Q@Q&\Om [2 marks]
Lolea

___% all 3

i

@ 5 covect

8 degfees

l \l/ \No.lala’\’

b) If the car is moving at a constant velocity, what is the resultant of these three forces?

veauttot Loteo, — © @ [1 mark]

c) Show that the frictional force between the wheels of the car and the ramp has a value of about

4000 N.
(bow\Pomaer Og w&tra\n)r W o Mﬁ down [3 marks]
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Question 7

A velodrome is an oval-shaped cycle track, parts of which are steeply banked. The riders in the picture
are travelling at 14.8 ms™ and the radius of curvature of the banked track is 32 m.

a) Why is the track banked on a steep angle?

g\& \r\m\l\vua e Tock ot an am%‘\q_, oo [2 marks]

Yeackion £olte QXQX"TQJL b\z( o Axock 9w e
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@ less dependemts on EGdhion 4o peovide ¥

b) If the bikes shown in the diagram have no tendency to slide up or down the slope, calculate the
value of the banking angle 6.

I\t [2 marks]
+Du/\9/ - _007’
%
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Question 8

A mass is suspended by a 90 cm long rope attached to a spring balance that initially reads 14.0 N as
shown in diagram 1.

The mass is pulled to one side and then released as shown in diagram 2.

Diagram 1 Diagram 2

Z N SR s R

A s
yﬂ/ P

F=1

As the mass passes through the vertical point it has a velocity of 2.45 ms™.

What is the reading on the spring balance at this instant?

G
W = m% 48 marks]
— . = LUl
Mmo= aR 3 ©
FC/ = R—W
S0 R = F(L + W
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Question 9

A load is supported on a uniform beam as shown in the diagram below.

Wwa"
Wcable
Wload
— ¢ —2 L" beam
hinge

The load is now moved to the right.

a) Which of one of the following best describes what happens to the tension force in the cable
and the horizontal force exerted by the hinge on the beam?
® |

Write the letter of your answer in the box at the right.

TENSION FORCE Fr. HORIZONTAL FORCE F, [2 marks]
A. Decrease Decrease
B. Decrease Increase
C. Increase Decrease
B Increase Increase
b) Briefly explain your choice.
faou \W:& g \oods ‘o e x kal/\Jr wall [2 marks]
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Question 10

Two solenoids, placed side by side as shown, are functioning as an ideal transformer. The first
solenoid has 230 turns and the second has 46 turns. An AC power supply provides the first solenoid

with a current of 0.35 A.

1st Solenoid 2nd Solenoid

T

ac power supply 150

What current flows in the second solenoid?

N V= Te [3 marks]
Np Ve i - @

wo - 0%

—_—

230 Ts

I

L, _—L _— \-"IS F\
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Question 11

The diagram below shows a simple generator. The coil is rotated in the magnetic field and an induced
EMF is produced. Permanent magnet

Handle (for turning) @ Brush
a) Does the diagram show an AC generator or a DC generator? Justify your answer.

@ Ac . o-«-‘\\,A hoas sl\F *(W\%S @

Thaxe s wo split irg torarnutotol o
odexse e ta~loadt.

[2 marks]

b) Which of the following changes will produce a larger voltage output from the generator? Tick
your answers.

Increase the number of turns of wire on the armature of the
generator v’
Reduce the strength of the magnetic field
Rotate the armature at a slower rate ' @
) Increase the cross-sectional area of the armature A
[2 marks]
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Question 12

A stiff copper wire is connected to a sensitive ammeter as shown in the diagram below. A student
moves the wire at a constant speed of 1.80 ms™ between the poles of a horseshoe magnet in a
direction parallel to the faces of the poles.

direction of
movement
of wire

copper wire

—4 pole piece

of magnet

The magnetic field in the region between the poles is uniform and has strength of 89 mT.

a) Calculate the magnitude of the EMF induced in the wire as it is moved between the poles of
the magnet.

wmduced. EMNME = 00 @ [2 marks]
= 1.0 % 0.05 sy 2AXIE >

e

= 90| xto V

©

b) To determine the direction in which the current induced in the copper wire flows, what piece of
additional information is needed?

dieckion of tao maﬁ»moilc Sweld [1 mark]

Y whaicha po\iL s N g waeh s S, @
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Question 13

Two identical bar magnets of the same strength are arranged at right angles and are an equal
distance from point P, as shown in diagram 1.

Diagram 1 P

a) At point P on the diagram, draw an arrow indicating the direction of the combined magnetic
field of the bar magnets. Ignore the effects of the Earth’s magnetic field.

[2 marks]

The bar magnets are replaced by two much weaker magnets. The two new magnets are still identical
to each other. They are arranged in the same way as before; with point P still an equal distance from
each magnet.

The magnitude of the magnetic field of a single bar magnet at point P is the same as the magnitude of
the magnetic field of the Earth at point P. The direction of the Earth’s magnetic field is shown in
diagram 2.

12|Page
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JBa  Heese
P Coveel out
Diagram 2 P
i i
S N ! IS & "
S
A
Direction of
Earth’s
magnetic field
N

b) At point P on diagram 2, draw an arrow indicating the direction of the combined magnetic field

of the bar magnets and Earth.
[2 marks]

Question 14

In a hospital, a traction device is used to apply a horizontal force to a patient’s foot. A single cord goes
around three fixed pulleys. One end of the cord is attached to a 2.50 kg load and the other end is tied
to arigid support. The middle pulley is attached to the patient’s ankle and pulls it as shown.

Calculate the magnitude of the force exerted on the patient’s ankle. Assume the pulleys are

frictionless.
F\o,g\— = ;m%h-r\— @
= 21 cos D5

I
¥
X
a

U

%
g

(%)

®

ut

Loveo F = do-i ol

[3 marks]
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Question 15

A heavy copper split ring is attached by a light insulating rod to a pivot to form a pendulum. A region of
uniform magnetic field B is present as shown. As the pendulum swings from Position 1 to Position 2,
the induced EMF in the ring is measured between points X and Y.

Position 2

a) Which graph best represents the measured EMF during the time that the pendulum swings
from Position 1 to Position 2? Write the letter of your answer in the box provided.

A
w BHA—— o3 B
© § / L t ®) E t
[2 marks]
b) Give a brief explanation for your answer.
—The  dweckon  of e wnduceds ENE [1 mark]
ust  Yeuense  as L Coppet ng
\eaves 4o &Ldd ©

@ wmeNgese W Slux  on GN\"N\a
docxNease S\lux on ex o
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Question 16

Identical magnets A and B are suspended above vertical copper tubes as shown in the diagram

Magnet A Magnet B
N N
:
q (N3

Copper tube — — Slotted

copper tube

The magnets are dropped at the same time. Each magnet falls straight through its tube without
touching the tube walls.

Which magnet leaves its tube first and why?

Moguer B ik Sl Lostex

(D [3 marks]

Botln mo\ﬁwis will  wduced, & GuNlant

[\’

M coppax ube oS t Lalls L N7 OC;U»(S)

Tha u‘ndu‘c'juk eoxyat  will p{odu,c_q_, oo ”\azw):t\c,

Leld whaeh o el oppose.  +ue totion of

rr\aﬁu.o:f @ Alow & down
TWa Slohted  eoppex tube  will have a highex
dedtvleo)l  Yesishon 4 20 Ho wduceds cuxewnt

will be  swmallex —> awmallaX N\o\iv&jt\cd Swalde
will be  ex2aeded . ©)

End of Section One
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Section Two: Extended Answer 90 marks =50 %

This section has six (6) questions. You must answer all questions. Write your answers in the
spaces provided.

Question 17

The diagram below represents a simple DC electric motor. The square loop TUVW consists of 140
turns and has a side of length 0.09 m and is free to rotate about the axis XY.

Current is supplied from a battery via the split-ring commutator. Two permanent magnets provide a
uniform magnetic field of 0.25 T in the region of the coil.

The current flowing in the coil is 1.65 A.

< @ & dation of

et e Yadaxsed

vPwoaN A S @

a) What is the direction of the force acting on side TU of the coil?

[2 marks]

b) What is the magnitude of the total magnetic force acting on side TU of the coil?

L ey @
— Wo x LD x 0-08A% 635 3
= SEEATSE\Y

®
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c) What is the magnitude and direction of the maximum torque exerted on the coil?
(‘f\c.XX\murr\ r‘t// — &L = o ‘C) @ [3 marks]
TON Q‘ v
— 2 ¥ S 3% x 004 @
o~
= 0 Wbl Nen Cw

0

@ Tha toygqwe voies os Hao oxwaatuxe

d) The coil of wire does not rotate at a constant rate. Why not?

[3 marks]
vototes — 4w distone Swoen Haoo Lo of
ackion of e Solw To Ha oxis  deceases

L e ©
. o~
X _(P K. 30 U will be swalleX
V

)

e) Briefly explain the purpose of thesplit-ring commutator.
Covacoutodol  Yalexses Hae  dwechion of (@ ©marks
tuxlant Llowl  tw e atwaokuxe oo m-a
Vs, — xotation

== %o'(a(\pd woill audou.ds oct v W oawne Awection

o daes axeaotuxy  uoll Yotate @C\v\‘hnuousl\& wn e
2ovaa  dNeckion @

f)  Which of the following alterations to the simple motor will make the coil turn faster? Tick your
answers.

Replace the original coil with a new coil of 60
turns

Increase the current to 2.25 A

v
Use rare earth magnets which increases the o @
strength of the magnetic field
Reduce the friction in the pivots e

[3 marks]
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Question 18

A satellite of mass 200 kg is placed between the Earth and the Sun. The satellite is at a distance of
1.51 x 10° m from the centre of the Earth and a distance of 148.1 x 10°m from the centre of the Sun,

as shown in the diagram below.

Circular )
orbit of /  Circular
Earth orbit of
/ | sateliite
/ /
Earth [
O satellite
|
| ; Sun
1.51x109ml 1481X109m

The speed of the satellite is adjusted so that it orbits the Sun with a period of 1 year (= 3.1526 x 107 s).
The rocket motor is then switched off. The satellite then orbits round the Sun in a circle, keeping
constant the distances between the satellite, the Earth and the Sun.

a) What is the centripetal acceleration of the satellite as it orbits the Sun?, @

Wi p3 Y
o = 9:1(‘(’ — AT w D lg — 2.95%10 \n(\_gmarks]
y 3.159L % O ®©
R 5 " _ L‘B\-QS xlow) @
Re ™ T - —————=
¢ W@ s 1
-3
= SR/ w10 ws 0
_ Gms - -
X A = = L oS w0 s

-
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b) Calculate the magnitude of the gravitational force exerted on the satellite by the Earth.
£ = Goyma [2 marks]
Skl

=4 AW
—  b-bTx\D ¥ Q0D %X . x|

O,
(LvSix iy

-
= 35S0 %o

©

c) Calculate the magnitude of the gravitational force exerted on the satellite by the Sun.

Ciea, o0 [2 marks]
(=
—\y

30
— bbT X > Q00 % \-A7 x\p

QUR-\ > o) & @

Cal o

O,

d) Hence, determine the magnitude and direction of the resultant force exerted on the satellite.
ek Sol. = Al — S Soxio @ [3 marks]

i W towoNnds A Sun

o Q)
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The radius of orbit of Venus around the Sun is 1.08 x 10" m.

e) Calculate the time (in Earth days) for Venus to complete a single orbit around the Sun.

’SL’ — Goas [5 marks]
&
AR - o Cns
=) .
« e C\L:\’\ﬁs ]
%
7
. G O
v — CGMe oo

5, i\
_ twox ot x o)
30
=
io-b"/xm\x -2 %10 @

a
— 2-711S xt‘o
q O,
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Question 19
A small coil is positioned so that its axis lies along the axis of a large bar magnet, as shown in the
diagram below.

leads to
coil

and magnet

coil

The coil has a cross-sectional area of 0.40 cm? and contains 150 turns of wire.

The strength of the magnetic field B (measured in mT) varies with the distance x (measured in cm)
between the face of the magnet and the plane of the coil, as shown in the graph below.

80

B/mT

40
N 1
20 14 Ra -
o HEE
0 5 10 15 20 25

x/ecm

a) The coil is 5.0 cm from the face of the magnet. Use the graph to determine the strength of the
magnetic field at the position of the coil.
@ [2 marks]

21| Page

Q% TF\T




Physics Stage 3 Semester 1 Examination 2012

b) The coil is moved along the axis of the magnet so that the distance x changes from x = 5.0 cm
to x = 15.0 cm in a time of 0.25 seconds.

Use Faraday's Law to calculate the (average) EMF induced in the coil during this time.

-3
. L = S 525‘ = BA = UBxw0 % oueo><\o @ [6 marks]

= LAX w o \M\b

[}
— _‘> —
St W = \S gy = B8R = [xw = OUox\o
|
(% — c&m—\> = 32 Q0% \© wlo @ "
- -
: - - — 3 = \a
= Py — P 2 A% — AN 1D
= —lboxo We ()
_ — N
waAuced, EME = —-E @
[AN®
b
= — V30 x(—\'loOx\D
0 S @
-
= + QA-box\0 vV
c) The induced EMF is observed to remain constant during the 0.25 second period of time.
Which of the following statements correctly describes the speed of the coil during this time?
Write the letter corresponding to your answer in the box.
A. The coil moves with an increasing speed
B. The coil moves with a constant speed &
C. The coil moves with a decreasing speed @
[1 mark]
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Question 20

A girl throws a golf ball at a target marked on a wall 10.0 m in front of the throwing line. As she
releases the ball, her hand is level with the centre of the target.

target

The ball leaves her hand with a velocity of 11.9 ms™ at an angle of 20.0 degrees above the horizontal.

The target, as shown here, consists of concentric circles with diameters of 20 cm, 40 cm and 60 cm.
The arrows show the scoring.

10 points

5 points

a) Calculate the time taken for the golf ball to strike the target.

Ay = 5D = 1R x s Qo [3 marks]
-\
= :i® mg @
R = A,k
— & — E_O. — D%QL(/ S
AT W

O, ©
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b) Calculate how many points the girl should score. Assume the golf ball lands on the vertical
dotted line. [Hint: find the vertical displacement of the ball]

Stnd Yoo vaxtieal o\lsq\o&e\mw‘f

[6 marks]
_
w = QA % swvw o = Y01 ms @
o = — AR
r = 0-34Y% eec
2
QL = ut + 5. at
T
= Qkor? . o.%q9 — $.2% 0.9y
= — O AT e @

@ applox A%t bokow  CenbNe of tange

/ /, S, o dis P\o\ce. st s

S o bur  less than

{ : 0 e
\ \J/ 1 ” 30 sl will oo

S Pt;\V\'\"S @

c) A second throw lands just below the target. State and explain one change that she could make
so that her next throw will get a better score.

(D  Change: faxow ot o geatex  awmgle to tha

Explanation: “oxrzon \—O’ \

vaxkical  Govaponad will T so kall will be

@ W oY \qu\}ox —>  will  aot hauve  axo pped
R WX T sodoxue o o distownca

[2 marks]
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d) The girl is then given a table tennis (ping-pong) ball to throw from the same position, and she
manages to hit the target. However, it follows a different path from the golf balls.

On the diagram below, sketch and label the approximate trajectories of the golf ball and the
table tennis ball.

qo\§ ball @
M\
7
/\\\ target

P\v\a FOU‘L& \:)qu

Briefly explain why the table tennis ball follows a different path.

Pivg  powg Dall \s fugin ‘\lﬂa\l\"'od‘( than Haoe

gqold ball —>  will ba  mote oafleckid by @
Q

ol Nosisetowned

o aeaollax DAANX WAL T Y\.ﬂ.;t.?\\n‘\‘ , S\otex

onge @

[4 marks]
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Question 21

A 0.15 kg toy airplane is suspended as shown. It travels in a horizontal circle at a constant speed.

L —-i $ol DW\.-&
r<———0.55m;;| o\d\dt‘\‘\ov;o\\ Soles
i oW

a) Show the direction of the forces acting on the airplane as it moves in the horizontal circle.
Make sure you label each force clearly.

[2 marks]
b) Calculate the tension in the string which supports the toy airplane.
F = [3 marks]
vp = £ down
T st = w Q@
B - _ oasxa 13
We W T $W\\>§L 1 swsT ()
e tonsion U = s

@

¢) Determine the speed of the airplane as it moves in the horizontal circle.

[Hint: remember that the horizontal component of the tension in the string is equal to the
centripetal force acting on the airplane]

L = Teos® = V1S % Cos s [4 marks]
= ©-98% & ©
- \.)’L
Sinte U FC/ = '(1\'(—\"
S B.© _ 0-3Q85 x 055
oo oS @
NS = -850

2 2
30 AJ¥ = \%TT ms ® %6|Page
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d) Hence, calculate the period of the motion of this airplane.

ATC [3 marks]

=
5. 1 w

A

A =

== X W 058

-7

©

Paxtod = .35 Sec

©

e) As the speed of the airplane increases will the angle between the string and the vertical (shown
as 33° in the diagram) increase, stay the same or decrease? Explain your answer.

: ' 3
W\("\L'm“"ﬁ N — FQ_/ wil  wexease Bmartkl
S Ty will wase @
—TH — T Cos (54

©

tos O cust wmelea s —> B e
stnallex

»

\Q_ wﬂ\@z 1o Haao vaxkical  caust
eSO @
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o e Senallex
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Question 22

The Muja power station (near Collie) generates at a total of 1040 MW from its 8 generators. There are
four 60 MW generators and four 200 MW generators.

The 60 MW generators produce power at 11.6 kV and the 200 MW generators produce power at
16 kV.

Generators feed the electricity produced into transformers where the voltage can be increased or
decreased.

Before the electricity is distributed, transformers step up the voltage to 330 kV. On the outskirts of
Perth there is a sub-station that reduces the voltage to 11 kV and in the local park there is a further
small transformer that reduces the voltage to 240 V.

a) On the diagram below show the voltages at the different stages of transmission. Write the
values in the appropriate boxes.

[2 marks]

substation
transformers

® [

200 MW generating statior/-’,

B d

7Y R

generating
'L kV transformer

b) Explain why the generator is designed to produce alternating current and not direct current.
altex vat\mA e aant &M} allows [2 marks]
Fonsbotmins  Fo be  uzeds to adhex

weease ox decenso. o uoﬁmﬁe,

M“WA o Toens enlsgS\o v
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c) Calculate the current generated in one of the 200 MW generators.

P o T [2 marks]
o 2
b
00 ’ ¥
= ¥R = 88 xw B
T 2
b % w7 @
d) Explain why the voltage is increased to 330 kV before it is distributed to users.
[3 marks]

%n mc,(msma +he volteye Yo 230 k\J

W e Wawnswission

dne toxeant Slouan
lwas  \s  Yeduceds @
T an3>Nission

NTY o powex \ozs r:l.w(u.u&
e @
P\cgs = I

oo seaollot  tuxenst  wall Yesult ww o less
ansvalss

.M(m bo,n;/va wasted. os  last cu,w\@a 4y @

& ot kL cLoast

-

e) Calculate the turns ratio (Ns:Np) of a transformer used to increase the voltage from a 60 MW

generator to 330 kV. 2,
Ns Us __ 3?30 x%i0 [3 marks]
e = S B
Np V) = -l Y \O @
© T

®
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f) The power lines shown in the diagram below are carrying the total power output from the Muja
power station through 330 kV high voltage lines.

What is the size of the current flowing through these high voltage cables?

P = U 5 [3 marks]
\olD  w \Db = BBOwiDs L

® oo Db L
= = TR = BISwo R

T, =

B30 \D‘>

0 ®

g) The transformers used to change the voltage are usually less than 100 % efficient. Give two
reasons for the loss of energy in the operation of a transformer.

1% reason teat \oss due to vesistawnie | 0§ wwe <D
L @hwen ow\a 3 Sreowviden 4 co i\
2" reason bt  W0ss due to Eckd_x.& eteants @
Y, (Y0 VI ' P & 1 45
X Soownde  PY oduced. do to [2 marks]
uvileabions

End of Section Two
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Section Three: Comprehension and Data Analysis 25 marks =12.5 %

This section contains one (1) question. You must answer all parts of the question. Write your
answers in the spaces provided. i 3 ’ g

Question 23 »
Magnetic Forces

An investigation was conducted to examine the relationship between the magnetic force experienced
by a conductor and the current flowing in it. SIS

The experiment is set up as shown in the diagram below:
A rigid copper rod carrying an electric current is susb"e"ﬁdéd between the poles of a magnet, and the
force exerted on the rod is measured by a sensitive electronic balance.

Horseshoe magnet
supported in retort

Plastic support
for rod passing
between poles

/of magnet

Top loading
balance

When the trial is ready to begin the “Tare” button on the electronic balance is pressed. This zeros the
reading on the balance. The current was varied by adjusting the variable resistor (rheostat). Three
trials were conducted for each value of the current used.

The following results were obtalned

Trial 1 Trial 2 Trial 3

50 0.030 0.032 0.029 01030 0- QW
6.0 0.035 0.035 0.034 0035 o BIUS
7.0 0.041 0.040 /0950’ 0. 0wl 0. YO
8.0 0.047 0.046 0.048 o oW T 0 -Ybi
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a) What was the independent variable in this experiment?

[1 mark]
ettt e woppeX wie
b) Why did the students carry out three trials for each current used?
wnpYove ﬂe\\c\\o\\\‘\\d o¢ Yesults @ [2 mark]

A% ex M\\'/\.QJ oNN O\%Q ) a&vb mo( wm&\sﬂmoﬂ

0

c) What are three (3) important variables which should have been controlled in this experiment?

1%t variable Sowne mQ%V‘Q_‘f @

2" variable Sowrn CopEAX xod @

3" variable Sourn balance / oven a9 @

[3 marks]

d) Determine a reliable value for the “average balance reading” for each current used and show
this in the 5" column of the table.

v [2 marks]
see talble

e) Calculate the value of the average force for each current used. Remember that F = mg where
g =9.80 ms™ Show this value in the 6" column of the table. Express the values to 3 significant

figures. 4
v’

2ee table [
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f) Plot this data on the graph grid provided. Show the current on the horizontal axis.
Draw a line of best fit.
[5 marks]
)
1
{
2
i~
=
/‘(
/ L/
> /
~h @ u%uc(me)(
Y )
’ w
1
\;/f’
— /|
/.(
~
s R \C .
ES Cunant U\)

©

g) Determine the gradient of the linear graph. Include the appropriate units. Give the value to 3

significant figures.

%*&adij% =y

R\sg,
NIV

0.4l @

? - !
S-S X o A

[4 mar_ks]
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h) Using the gradient of the graph determine the strength of the magnetic field of the horseshoe
magnet used in this experiment. The length of wire in the field is 36.5 mm.

Express the value for the field strength to 3 significant figures.

E = TW = &(_B) P, [4 marks]
gedient = & @ -
Nod et S8 %\0
St = e B
= ST @

(vonge .55 —> Ui r)

i) Sometimes when this experiment is carried out, the reading obtained on the electronic balance

is negative. What is one modification which could be made to the equipment used to
overcome this problem?

, @ [2 marks]
NQNONSQ  Awecdkion  of  auxXenmt

(aexse  dwednon  of mwévxni\c/ Sielde

End of Section Three
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